
I.D.:	23437759

Achiztionare	materiale	necesare	pentru	lucrari	de	intretinere	la
statii	de	pompare	si	locuinte	mecanici,	din	cadrul	Filialei
Teritoriale	de	IF	Dunare	Jiu-	UA	Dolj

Data
publicarii

25.10.17 Coduri	CPV 31681410-0

Termenul
limita
pentru
depunere:

27.10.17 Pretul	estimativ: 51.597,00	RON

Descriere: Materiale	electrice	•	Banda	contrac?ie	-	10	buc.	•	Banda	izolatoare	10m	-	20	buc.	•	Banda
vegetala	-	10	buc.	•	Bec	24	V	-	20	buc.	•	Bec	250/100	W	-	50	buc.	•	Comutator	ST	-	10	buc.	•
Contactor	CC44-220	V	-	2	buc.	•	Dulie	Goliat	-	10	buc.	•	Dulie	normala	-	10	buc.	•
Întrerupator	AC3-40	A	-	2	buc.	•	Întrerupator	PT	-	10	buc.	•	Întrerupator	ST	-	10	buc.	•
Lampa	electrica	24	V	-	8	buc.	•	Piuli?a	M6	-	60	buc.	•	Piuli?a	M8	-	60	buc.	•	Piuli?a	M10	-	60
buc.	•	Piuli?a	M12	-	60	buc.	•	Priza	electrica	PT	-	10	buc.	•	Priza	electrica	ST	-	10	buc.	•	Priza
Suko	-	10	buc.	•	Rezisten?a	electrica	800	W	-	60	buc.	•	Siguran?a	fuzibila	63A	-	3	set.	•	Soclu
siguran?e	cu	capac	-	25	buc.	•	?aiba	Grower	-	240	buc.	•	?urub	M6x60	-	60	buc.	•	?urub
M8x60	-	60	buc.	•	?urub	M10x60	-	60	buc.	•	?urub	M12x60	-	60	buc.	•	Amorsa	acrilica	-	65	l	•
Ciment	-	50	saci	•	Coama	tabla	cutata	-	100	m	•	Cuie	7	cm	-	10	Kg	•	Cuie	16	cm	-	10	Kg	•
Diluant	-	10	l	•	Electrozi	supertit	3,25	-	20	Kg	•	Emulsie	bitum	-	200	l	•	Ferestre	tocarie	PVC	-
10	m2	•	Geam	tras	3	mm	-	10	m2	•	Geam	tras	4	mm	-	20	m2	•	Glet	-	20	saci	•	Multibat	-	30
saci	•	O?el	profil	T3	-	40	Kg	•	Parchet	laminat	8	mm+accesorii	-	100	m2	•	Patrat	ra?inoase
10x10x400	cm	-	4	m3	•	Penson	-	5	buc.	•	Pensule	diferite	-	10	buc.	•	Pigment	culoare
albastru	-	20	tub.	•	Plasa	sârma	cu	h=1,70	m	-	125	m	•	Robiglas	(10m)	-	5	buc.	•	Sârma
Dn=2	mm	-	3	Kg	•	Sârma	ghimpata	-	20	m	•	Scândura	2,5	x	400	cm	-	5	m3	•	Silicon
geam/metal	-	5	buc.	•	Tabla	cutata	1000x2000	mm	-	30	buc.	•	Trafalet	-	12	buc.	•	U?i
tocarie	PVC	-	12	m2	•	Vopsea	lavabila	exterior	-	420	Kg	•	Vopsea	lavabila	interior	-	500	Kg	•
Vopsea	ulei	albastru	-	75	l	•	Vopsea	ulei	negru	-	50	l	•	Vopsea	ulei	verde	-	50	l	•	Ulei
hidraulic	H	46	-	100	l	•	Ulei	MD	20w40	Super	2	-	20	l	•	Ulei	SAE	10w30	-	5	l	•	Ulei	transmisie
T90	-	40	l	•	Unsoare	Rul	100	Ca3	-	60	Kg	•	Buc?a	uzura	Brates	350	-	6	buc.	•	Inel	uzura
Brates	350	-	6	buc.	•	Rulment	motor	P=75	KW	-	1	buc.	•	Rulment	pompa	R7320	-	1	buc.	•
Rulment	pompa	R22314	-	6	buc.	•	Rulment	pompa	R22317	-	4	buc.


